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- PC point of curvature «aail) aass
- PI point of intersection adalel) dass
- PT point of tangency (sl adass
- T tangent length osledd) J sk
- R radius of arc (st jhd Caias
- A angle of deflection
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- C length of long chord i Jsk
- E the external distance 4 lall Zélud
- M the middle distance 4udaw s dald)
- L is the length of simple horizontal arc &Y i Jsh
- D is the degree of curvature for the simple horizontal arc (A/L)
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6. cos(é) = % =M= R(l— COS(%))
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7. Sta. of PC=Sta. of PI - T
8. |Sta. of PT = Sta. of PC + L
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T=R tan(%j = 200*tan( j =66.53m

36° 48

C=2RSin(%j=2*200*Sin( J:126.26m

M =R(1- cos(%)): 200[1— cos(360248'D =10.22m

(L) sinial Jsha b ) 2 sl

{(T) el J sk o Y

(C) sl Jsh b ¥

(M) Aok ol ddliall il €




e e R N U RN UN R UUUROON Bt 2e
(E) aa Al ddled) Ll 0

—-1{=10.78m

1 1
E= R[— —1} =200
A 36° 48
COS(A) cos( 4 j

LS 1Y) oy Ll Cana) (D = 30 i (500 e 1l
520 (s s Q) il Jola ]
e 20 s sbn Bl il sk

AN

520 (5 5he 30 W jlate Ay g) 3 Qe il Joda ]

D _360° _ . _180°*20_3600°

~ _ — =381.97m
20 272R 7*D r*3°

5a 20 5 st i gl Jsla S 1Y

A\ % (7 =382.02m

sin(—j——:R=_ 2= 12
2)7 R sin(5) sin@5) (Where: A = D)




